Oval Pad ZP Series
Mounting Bracket Assembly

Adapter Assembly: Vacuum Inlet Direction T Type/ZPT

Product ZPTOUO-0
part no.
Pad size TVacuum inlet (Male/Female thread)
Pad material
g:rtn;ponent Male thread Female thread

®Gasket |
(®Adapter | (®Adapter
(With gasket)

(Same for the ZP/Basic type)

Svrmbol @ Pad size symbol
ymbol
2004 3507 4010
- % %§ M5 x 0.8 A5 ZPT1-A5
o = o
‘% E =c M6 x 1 A6 ZPT1-A6
% 3 %;;g Mix07 | B4 ZPT1-B4
"3 S| Msxo0s | BS ZPT1-B5
10 pcs.*1 ZP-5G2
For M5 x 0.8 "
(B)Gasket 100 pos.! M-5G2
(Single unit) 10 pes.*1 ZP-6G2
For M6 x 1 -
100 pcs.*! M-6G

x1 The gasket (single unit) sales unit is shown.

® 189




Oval Pad
Mounting Bracket Assembly

ZP Series

Model

Selection

Adapter Assembly: With One-touch Fitting,Vacuum Inlet Direction R Type/ZPR

| ZP2
Oval

Product ZPRO U -
part no. T
Pad size T T Connection thread (Male/Female thread)
Pad material Vacuum inlet (One-touch fitting)
Component Male thread Female thread
parts
. Adapter
Mounting nut ® -
[ %J/© g MJ/ (With gasket)
[ . Hl
%7®G38ket
(®Adapter i n
With mounting nut i H H) (same for the ZP/Basic type )
With gasket /%
|
(DGasket |
(®Pad mounting adapter %
@Pad size symbol
Symbol Symbol
2004 3507 4010
oF| M5x08 | A5 ZPRS-04-A5
()
M =< Mex1 | A6 ZPRS-04-A6
T o | 24|04 il
. B = £ gg M4x0.7 | B4 ZPRS-04-B4
o Bl = o
4 £ G I 2<| M5x08 | BS ZPRS-04-B5
(% 3 B Moz M5x08 | A5 ZPRS-06-A5
1 < O
o o los U Mext [ a6 ZPRS-06-A6
%]
(-N2o Max07 | B4 ZPRS-06-B4
g£Q
P<| M5x0.8 | B5 ZPRS-06-B5
Pad mounting adapter ZPT1-B5
©m Singl M5 x 0.8 NTJ-015A
ounting nut (Single unit
© L L M6 x 1 SNJ-006C
O S 10 pcs.*1 ZP-5G2
ket (Single unit
s 100 pcs.*! M-5G2

*1 The gasket (single unit) sales unit is shown.

Construction

o, >
=il
=Xxc
€0 b
380
s02

Precautions

190 @




Oval Pad .
Mounting Bracket Assembly ZP Series

Adapter Assembly: With Barb Fitting, Vacuum Inlet Direction Y Type/ZPY

Product ZPYODUO-2-0
part no. T T
Pad size T T Connection thread (Male/Female thread)
Pad material Vacuum inlet (Barb fitting)
Component Male thread Female thread
parts
- ®Mounting nut [[] ~®Adapter
ascal |
®Adapter %?
(With mounting nut) E
(Same for the ZP/Basic type)
@Pad size symbol
Symbol Symbol
2004 3507 4010
03| M5x08 | A5 ZPY1-N4-A5
© O
25| Mex1 | A6 ZPY1-N4-A6
For @4 nylon tubing | N4 o
=3 M4axo07 | B4 ZPY1-N4-B4
EQ
PE| M5x0.8 | BS ZPY1-N4-B5
03| M5x08 | A5 ZPY1-N6-A5
© O
-B=< Mex1 | A6 ZPY1-N6-A6
- For 96 nylon tubing | N6 Sl
. i:’ o N3 M4x07 | B4 ZPY1-N6-B4
[T = =~ =9
4 £ MOl M5x08 | B5 ZPY1-N6-B5
g = = = L=
g -l £ Mo M5x08 | A5 ZPY1-U4-A5
m O
® W=Z Mex1 | A6 ZPY1-U4-A6
For o4 soft tubing | U4 [F =
(N2o| vix07 | B4 ZPY1-U4-B4
£Q
Pe|l M5x08 | BS ZPY1-U4-B5
03| M5x0.8 | A5 ZPY1-U6-A5
© O
=< Mex1 | A6 ZPY1-U6-A6
For 6 soft tubing | U6 D)
23| M4x0.7 | B4 ZPY1-U6-B4
=@
Pel M5x0.8 | B5 ZPY1-U6-B5
M5 x 0.8 NTJ-015A
Mounti t (Single unit
ounting nut (Single unit) — SNJ-006C

® 191



Oval Pad .
Mounting Bracket Assembly ZP Series

Model
Selection

Buffer Assembly: Vacuum Inlet Direction TTypeIZPT
Product ZPT O UO (J/K) @-03 - A8

part no. T
Pad size Vacuum inlet
Pad material (Female thread/One-touch fitting/Barb fitting)
ad materia
ng

Buffer stroke
J: Rotating, K: Non-rotati

Component i One-touch fitting  Barb fitting
parts
®Buffer ———

= |

With buffer plate ‘ . !
With mounting nut ©Mounting nut |

(®Buffer plate | F
A 7
[ A | [ T 1 N —
] \ \ Q' S
(same for the ZP/Basic type ) No
A

Construction

o, >
=il
=Xxc
€05
380

]
qu:

Symbol
2004 3507 4010
6 [ J [ J [ J
10 [ J [ J [ J
@Butter Stroke
stroke 15 Y ° °
25 [ J [ J [ J
25 M3 x 0.5 B3 ZPB1(J/K)2-B3
€9
o [ M5 x 0.8 B5 ZPB1(J/K)2-B5
£
e B 04 04 ZPB1(J/K)2-04
s B
E SE 06 06 ZPB1(J/K)2-06
[} o | For o4 nylon tubing | N4 ZPB1(J/K)2-N4
B E| For o4 soft tubing | U4 ZPBA1(J/K)2-U4
(BBuffer plate (Single unit) ZPB1
©Mounting nut (Single unit) M8 x 1 RB08J
[Buffer assembly part number example] @
ZPT2004UN [J][10]- B5 - A8 <
zpPB1[J][10]- B5
(2Buffer stroke =

192 ®



Oval Pad .
Mounting Bracket Assembly ZP Series

Buffer Assembly: With One-touch Fitting,Vacuum Inlet Direction R Type/ZPR

Product ZPR O U O (J/K) @ - A8
part no. T
Pad size Vacuum inlet (One-touch fitting)
Pad materlal Buffer stroke

J: Rotating, K: Non-rotating

Component
parts
(®Buffer (EMounting nut
With buffer plate
With mounting nut] |1, @Bufrer plate
\[ ]\ LAl i I I i ]
Q (Same for the ZP/Basic type)
|
(n al
(BBuffer connection adapter —L | - al

(With gasket)
(P Gasket

(©Pad mounting adapter

)

@Pad size symbol
Symbol
2004 3507 4010
6 [ [ J ([ J
10 [ ([ [ J
eg::::z; Stroke
15 [ J [ J [ J
25 [ J [ J [ J
ZPB1(J/K)2
5 o4 04 ZPRS04-B5
3
=)
2 < 26 06 ZPRS06-B5
@Pad mounting adapter ZPT1-B5
@Buffer plate (Single unit) ZPB1
@Mounting nut (Single unit)| M8 x 1 RB08J
® 10 pcs.*1 ZP-5G2
Gasket (Single unit
(Sing ) 100 pcs.*! M-5G2

%1 The gasket (single unit) sales unit is shown.

[Buffer assembly part number example]
ZPR3507UN [K][15]- 04 - A8
zPB1 [K][15]

@

Buffer stroke

© 193



Oval Pad .
Mounting Bracket Assembly ZP Series

Model
Selection

Buffer Assembly: With Barb Fitting, Vacuum Inlet Direction Y Type/ZPY

Product ZPY DU O (J/K) @ - A8
part no —l—
Pad size Vacuum inlet (Barb fitting)
Pad materla Buffer stroke

J: Rotating, K: Non- rotatlng

Component
parts
®Buffer (DMounting nut
With buffer plate
With mounting nut y @Buf‘fer plate
[ ]‘ V] i I T i ]
N
NG

Q (Same for the ZP/Basic type)

I
(®Pad mounting adapter %§,

Construction

o, >
=il
=Xxc
€05
380

]
qu:

@Pad size symbol
Symbol
2004 3507 4010
6 [ [ [
10 [ [ (
@Buffer Stroke
stroke 15 P P P
25 [ ) [ ) [ J
(®Buffer ZPB1(J/K)2
2 > For @4 nylon tubing | N4 ZPY1-N4-B5
§ 5 § :E For @6 nylon tubing | N6 ZPY1-N6-B5
£ < =
B g E g § For o4 soft tubing | U4 ZPY1-U4-B5
® For 96 soft tubing | U6 ZPY1-U6-B5
@Buffer plate (Single unit) ZPB1
(DMounting nut (Single unit) M8 x 1 RB08J

[Buffer assembly part number example]

ZPY4010UF E— 06 - A8

Precautions

zpB1 [K][10]

(2Buffer stroke

194 ®



	Mounting Bracket Assembly



